ASSEMBLY INSTRUCTION

DESCRIPTION: ENTERTAIMENT TV STAND

Thank you for purchasing this quality product. Be sure to check all packing material
carefully for small parts which may have come loose inside the carton during
shipment. Identify and count all parts and compare with the parts List Below:

PARTS LIST:
HARDWARE LIST
- NO. | Drawing Description Q'ty
TV STAND: 1PC A @ Furniture Tipping Restraint 1 Set

Push tab down

To remove drawer,
simultaneously pull tab up on
one side and push down on the
other and remove drawer.

Furniture Tipping Restraint
Wall

Furniture Tipping Restraint
must always be used to
prevent the furniture from
tipping.

LEVELER

CLEANING INSTRUCTION

Clean the TV Stand surface with a furniture polish and a soft cloth.




ASSEMBLY INSTRUCTION

DESCRIPTION: LEFT PIER

Thank you for purchasing this quality product. Be sure to check all packing material

carefully for small parts which may have come loose inside the carton during
shipment. Identify and count all parts and compare with the parts List Below:

PARTS LIST:

@ ®

<

HARDWARE LIST

LEFT PIER UNIT: 1PC

. | Drawing

Description

Q'ty

GLASS SHELF: 1PC A

Furniture Tipping Restraint

1 Set

Furniture Tipping Restraint /

Wall Top

A

Furniture Tipping Restraint
must always be used to
prevent the furniture from
tipping.

CLEANING INSTRUCTION

Clean the Left Pier surface with a furniture polish and a soft cloth.




ASSEMBLY INSTRUCTION

DESCRIPTION: RIGHT PIER

Thank you for purchasing this quality product. Be sure to check all packing material
carefully for small parts which may have come loose inside the carton during
shipment. Identify and count all parts and compare with the parts List Below:

PARTS LIST:

@ ®

<~

. L2 HARDWARE LIST
N . — ,

- NO. | Drawing| Description Q'ty
RIGHT PIER UNIT: 1PC | GLASS SHELF: 1PC A <> Furniture Tipping Restraint 1 Set

Furniture Tipping Restraint

Wall Top
Furniture Tipping Restraint
> must always be used to
/ prevent the furniture from
7 / tipping.

A

VoV

=
k3 $ P~ -

CLEANING INSTRUCTION

Clean the Right Pier surface with a furniture polish and a soft cloth.




ASSEMBLY INSTRUCTION

DESCRIPTION: ENTERTAIMENT HUTCH
ENTERTAIMENT TV STAND
LEFT PIER

RIGHT PIER

WALL UNIT

Thank you for purchasing this quality product. Be sure to check all packing material

carefully for small parts which may have come loose inside the carton during
shipment. Identify and count all parts and compare with the parts List Below:

PARTS LIST:

HUTCH PART LIST:

@

@

LIGHT BRIDGE: 1PC

ADJUSTABLE SHELF: 1PC

LEFT SIDE FRAME: 1PC

RIGHT SIDE FRAME: 1PC

\ ’

CENTER POST BACK: 1PC

BOTTOM RAIL BACK: 1PC

& — //

PIER TOP
GLASS SHELF : 1PC

PIER TOP
GLASS SHELF : 1PC

N

WA\ VA

\
\\

@

LEFT BACK PANEL: 1PC

RIGHT BACK PANEL : 1PC

LEFT PIER UNIT : 1PC RIGHT PIER UNIT : 1PC

TV STAND: 1PC

©
HARDWARE LIST
NO. | Drawing Description
A > Bolt @1/4"x1-1/4" 4pcs
B Flat washer (@1/4"x16mm) 4pcs
(¢} (@) Spring washer (31/4") 4pcs
D "% Shelf support 6pcs
E Q Cover cap plastic(@20x318x7mmH) 4pcs
F o Wood screw(28*3/4") 34pcs
G P Wood screw(28*3/4") 6pcs
H P Wood screw(26*5/8") 6pcs
| oo Wood screw(8*1-1/4") 6pcs
J ﬂl Allen wrench (4mm) 1pc

CLEANING INSTRUCTION

Clean the wall unit surface with a furniture polish and a soft cloth.

Page 1/3




CLEANING INSTRUCTION
Clean the wall unit surface with a furniture polish and a soft cloth.

Page 2/3




GLASS SHELF

To remove drawer,
simultaneously pull tab up on
one side and push down on the
other and remove drawer.

Push tab up

RIGHT PIER UNIT

Furniture Tipping Restraint

:

Top Wall

A

Furniture Tipping Restraint
must always be used to
prevent the furniture from
tipping.

2
LEVELER ~

LEFT PIER UNIT ~ ‘Iﬁ%ﬁ)

CLEANING INSTRUCTION

Clean the wall unit surface with a furniture polish and a soft cloth.
Page 3/3




	1
	2
	3
	4
	5
	6



